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Question Number : 1 Question Id : 2886073595 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Which of the following is true about the Indian economyv at the time of Independence?

A predominantly an agricultural economy.

B. had a strong industrial base.

C. was characterised by abundance of capital resources.
D. strong infrastructural base.

Options:

28860714353. 1



28860714354. 2
28860714355. 3
28860714356. 4

Question Number : 2 Question Id : 2886073596 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

Which cities in India follow a rigid master plan?
Lucknow

Calcutta

Delhi

Chandigarh

gowp

Options:

28860714357 1
28860714358. 2
28860714359. 3
288060714360. 4

Question Number : 3 Question Id : 2886073597 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0
In network theorv, CASis
A. Complex Adaptive System
B. Communicate Address and Solve

C. Cyber Academic System

D). Causal Approach Simplified

Options:

28860714361. 1
28860714362. 2
28860714363. 3
26800714364. 4

Question Number : 4 Question Id : 2886073598 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which is/are closed economyv industry-agriculture models

Lewis

Kalecki

Kaldor

All of the above

0wy



Options:

28860714365. 1
28860714366. 2
28860714367. 3
28860714368. 4

Question Number : 5 Question Id : 2886073599 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

When was the “The General Theorv of Emplovment, Interest and money™ published?
A 1836
B. 1986

C. 1936
D. 1886

Options:

28860714369. 1
28860714370. 2
28860714371. 3
288060714372. 4

Question Number : 6 Question Id : 2886073600 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When was Okun’s law formulated?

1862
1962
1945
2008

g oW

Options:

28860714373. 1
28860714374. 2
28860714375. 3
28860714376. 4

Question Number : 7 Question Id : 2886073601 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



When was Philips Curve formulated?

A 2000
B. 1968
C. 1958
D. 1988

Options:

28860714377. 1
28860714378. 2
28860714379. 3
28860714380. 4

Question Number : 8 Question Id : 2886073602 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

The Global Food Security Index (GFSI) considers which of the following core issues?

A Affordability
B. Availability

C. Utlisation

D. All of the above

Options:

26860714381. 1
28860714382. 2
28860714383. 3
28860714384. 4

Question Number : 9 Question Id : 2886073603 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: O

. Simon Kummets was involved in the development of

A Mational Income Accounts
B. Philips curve

C. Okun’s Law

D. None ofthe above

Options:

28860714385. 1
28860714386. 2
28860714387. 3



28860714388. 4

Question Number : 10 Question Id : 2886073604 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Rail freight and Foad Freight are indicators of

Postal services
Defence Services
Transport Services

0wy

None of the above

Options:

28860714389. 1
28860714390. 2
28860714391. 3
28860714392. 4

Question Number : 11 Question Id : 2886073605 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

What are the basic objective of economic policv making?

High growth
Inclusive growth
Sustainable growth
All of the above

Cnowp

Options:

28860714393. 1
28860714394. 2
28860714395. 3
288060714396. 4

Question Number : 12 Question Id : 2886073606 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Index of industrial production is released by

MOSPI
Ministry OF Finance
NITI Aavog

Labour Burean

oCnwpE

Options:



28860714397. 1
28860714398. 2
28860714399. 3
28860714400. 4

Question Number : 13 Question Id : 2886073607 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Revenue expenditure of central government is an indicator of
A Govemment consumption expenditure
B. Private consumption expenditure

C. Govemment Capital Expenditure

D. None of the above

Options:

28860714401. 1
28860714402. 2
28860714403. 3
28860714404. 4

Question Number : 14 Question Id : 2886073608 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

OBICUS survey of manufacturing companies is conducted by

A MOSPI

B. Ministryv of Finance
C. RBI

D. NITI Aavog

Options:

28860714405. 1
28860714406. 2
28860714407. 3
28860714408. 4

Question Number : 15 Question Id : 2886073609 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



The frequency at which national accounts are released

A. Monthlvy

B. Quarterly
C. Annual
D. Bothbandc

Options:

28860714409. 1
28860714410. 2
28860714411. 3
28860714412. 4

Question Number : 16 Question Id : 2886073610 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

What is the binding commitment under the WTO?
A The maximum custom duty a countrv can charge

The dutvrate at which products are imported

n W

The minimum dutv rate that can be charged on imports

2

. The minimum existing rate of customs dutv.

Options:

28860714413. 1
28860714414. 2
28860714415. 3
28860714416. 4

Question Number : 17 Question Id : 2886073611 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Which is the highest WT'O decision making body?
A. General Council
B. Ministerial Conference
C. Committee on Trade and Development

D. Council for Trade in Goods

Options:

28860714417. 1
28860714418. 2



28860714419. 3
28860714420. 4

Question Number : 18 Question Id : 2886073612 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

When and where is the next WTO Ministerial meeting scheduled?
A In 2020 in Buenos Aires, Argentina
B. In 2021 in Singapore
C. In2022 in Geneva
D. In 2020 in Kazakhstan

Options:

28860714421. 1
28860714422, 2
28860714423. 3
28860714424 4

Question Number : 19 Question Id : 2886073613 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Which sectors were not a part of GATT 1947 but got included in WTO in 19957
A Agriculture, fisheries and mining
B. Agriculture, textiles and clothing
C. Food. automobiles and textiles

D. Agriculture, pharmaceuticals and clothing

Options:

28860714425. 1
28860714426. 2
28860714427. 3
28860714428. 4

Question Number : 20 Question Id : 2886073614 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Which Agreement’ Area (s) were added in the Ministerial Conference in Bali in 2013 as
an addition to issues in the Doha Development Agenda?

. E-commerce issues

A

B. Trade facilitation

C. Trade facilitation and Least Developed countries Package
D

. 5pecial and differential treatment for developing countries

Options:

28860714429. 1
28860714430. 2
26860714431. 3
28860714432. 4

Question Number : 21 Question Id : 2886073615 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Which one of the following are the policy levers to engineer economic growth?
A Monetarv policy
B. Fiscal policy
C. Control policy
D. aandb

Options:

26860714433. 1
28860714434. 2
28860714435. 3
28860714436. 4

Question Number : 22 Question Id : 2886073616 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

In India, which institute has been vested with the responsibility for conduct of monetary

policy?
A Reserve Bank of India
B. State Bank of India
C. HDFC Bank
D. ICICIBank

Options:



28860714437. 1
28860714438. 2
28860714439. 3
28860714440. 4

Question Number : 23 Question Id : 2886073617 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

What are the objectives of monetary policy in India?

A Price Stability
. Growth

B
C. Inflation target setting
D. All of the above

Options:

26860714441. 1
28860714442. 2
28860714443. 3
28860714444. 4

Question Number : 24 Question Id : 2886073618 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: 0

What tools are available to RBI to achieve inflation targets?
A Repo Rate
B. Reverse Repo Rate
C. Cash Reserve Ratio
D. All of the above

Options:

28860714445. 1
28860714446. 2
28860714447, 3
28860714448. 4

Question Number : 25 Question Id : 2886073619 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



The amount a bank needs to maintain in the form of cash, gold and other securities before giving
credit is
A Statutory Liquiditv Reserve
. Cash Reserve Ratio

B
C. Open Market Operations
D. Bank rate

Options:

28860714449. 1
28860714450. 2
28860714451. 3
28860714452. 4

Question Number : 26 Question Id : 2886073620 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

The percentage of demand and time liabilities that banks have to keep with REl is
A Statutory Liquiditv Reserve

B. Cash Reserve Ratio
C. Open Market Operations
D. Bank rate

Options:

28860714453. 1
28860714454, 2
28860714455. 3
28860714456. 4

Question Number : 27 Question Id : 2886073621 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The buving, selling of treasury bills, government & other securities by RBI is
called
A_Cash reserve ratio
B. Statutorv liquiditv ratio
C. Open market operations

D. None of the above

Options:

28860714457 1



28860714458. 2
28860714459. 3
28860714460. 4

Question Number : 28 Question Id : 2886073622 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Which ofthe following scheme was launched bv government of Orissa for enhancing livelihood
and income?

A Basic income for all

B. Rythu bandhu
C. Kalia
D

. None of the above

Options:

28860714461. 1
28860714462 2
28860714463. 3
28860714464. 4

Question Number : 29 Question Id : 2886073623 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

What was the objective of UDAY?
A To improve operational and financial efficiency of the state power distribution companies
B. To open a bank account for all farmers
C. For generation of more renewable energv

D. MNone of the above

Options:

28860714465. 1
28860714466. 2
28860714467. 3
288060714468. 4

Question Number : 30 Question Id : 2886073624 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



According to PM KISAN, what is the basis of recognition of SMF families?
A Land holding upto 3 hectares
B. Income of Rs. 10000/ vear
C. Cultivable land upto 2 hectares
D. Income of Rs. 1000/ month

Options:

28860714469. 1
28860714470. 2
28860714471. 3
28860714472. 4

Question Number : 31 Question Id : 2886073625 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Public money should not be allocated for which of the following?
A Provision of public goods like national defence
B. Govemnment schemes to provide subsidies
C. Provision of private goods and services to certain people on equitv ground

D. Provision of goods with positive externalities

Options:

28860714473. 1
26860714474. 2
28860714475. 3
28860714476. 4

Question Number : 32 Question Id : 2886073626 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

For allocation of public money the government should not focus on?
A Spending public money to ensure broad equitable distribution of economic capabilities
among people
B. Improving the credibilitv of data of growth, fiscal deficit etc
C. Promoting domestic manufacturing by custom dutv protection

D). Transforming India’s higher education svstem to global best education svstem

Options:

28860714477. 1
28860714478. 2



28860714479. 3
28860714480. 4

Question Number : 33 Question Id : 2886073627 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following scheme was launched bv government of Telangana for enhancing
livelihood and income?

A Basic income for all

B. Rythubandhu

C. Kalia

D). None of the above

Options:

28860714481. 1
28860714482. 2
26860714483. 3
28860714484. 4

Question Number : 34 Question Id : 2886073628 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

UDAY waslaunched in which vear?

A 201
B. 2017
C. 2014
D

. 2012

LA

Options:

28860714485. 1
28860714486. 2
28860714487. 3
28860714488. 4

Question Number : 35 Question Id : 2886073629 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



The idea of universal basic income was proposed by
A Pivush Goval
B. Arvind Subramanian
C. Raghuram Rajan
D. Nirmala Sitaraman

Options:

28860714489. 1
28860714490. 2
28860714491. 3
28860714492. 4

Question Number : 36 Question Id : 2886073630 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

The reason's why private sector is generally unwilling to undertake big infrastructure projects
are:

A Lowretums

B. Long gestation period

C. Highrisk

D. All of the above

Options:

26860714493. 1
28860714494. 2
28860714495. 3
28860714496. 4

Question Number : 37 Question Id : 2886073631 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

In case of private investment road projects, the net economic benefits are generallv positive, it
may not be commercially viable because:
Tendency for private investments are less than optimal

the government doesnot allow such projects

o w p

the need for private participation is not there as there are sufficient govemment projects.

D. All of the above

Options:

28860714497. 1



28860714498. 2
28860714499. 3
28860714500. 4

Question Number : 38 Question Id : 2886073632 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

With respect to PPP, thereason for negating the favourable argument of reduction of burden on
government funds is:
A Higher Social rather than economic benefits and returns
B. Distortionarv effects and strengthen bias against investment.
C. Dutvrebates and Interest subsidies erodes allocative efficient giving rise to deadweight
loss

D. All of Above

Options:

28860714501. 1
28860714502. 2
28860714503. 3
28860714504. 4

Question Number : 39 Question Id : 2886073633 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The full form of BOT model under PPP is :
A. Buv, Organise and Transfer
B. Build, Operate and Transfer
C. Buyv, Operate and Train
D. Build, Organise and Train

Options:

28860714505. 1
28860714506. 2
28860714507. 3
28860714508. 4

Question Number : 40 Question Id : 2886073634 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



In case of BOT(Toll) model of Hishways construction the toll rates are generallv updated based
on:

Age of the project

Wholesale price index

Densitv of traffic on the highwayv

o 0w p

None of the above

Options:

28860714509. 1
28860714510. 2
28860714511. 3
28860714512. 4

Question Number : 41 Question Id : 2886073635 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

As per UNFCCC, what is climate change primarilv attributable to?
A Human activities
B. Global atmosphere
C. Climate Variability
D. Season change

Options:

28860714513. 1
28860714514. 2
28860714515. 3
28860714516. 4

Question Number : 42 Question Id : 2886073636 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

What is the full form of GHG?

(Gas House Generator

Green House Generation

Grev Home Good

o nwp

Green House Gases

Options:

268860714517. 1



28860714518. 2
28860714519. 3
28860714520. 4

Question Number : 43 Question Id : 2886073637 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

As per IPCC AR5 the Carbon budget available for whole world is

2900 Gt of CO31till 2100
3200 Gt of CO2till 2100
1900 Gt of COtill 2100
2900 Gt of CO2till 2050

o 0w p

Options:

28860714521. 1
28860714522, 2
28860714523. 3
28860714524. 4

Question Number : 44 Question Id : 2886073638 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The additional rule brought in Paris Agreement, which was not covered in Kvoto Protocol is

Developed nations are onlv obligated to reduce their emissions

Developing nations are responsible for more emissions owing to economic developments

o ® @

Developing nations also have to participate in reducing emissions

D. None of the above

Options:

28860714525.1
28860714526. 2
28860714527. 3
28860714528. 4

Question Number : 45 Question Id : 2886073639 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



Which is the most important principle of Kvoto Protocol?

Common responsibilities for all nations
Common but differentiated responsibilities for a nation

Emission increases with the economic developments

o aowp

Differentiated responsibilities for different nations

Options:

28860714529. 1
28860714530. 2
28860714531. 3
28860714532. 4

Question Number : 46 Question Id : 2886073640 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 Wrong Marks: 0

Article 4.3 of UNFCCC states that

Developed nations shall set up projects in developing nations for economic development
Developing nations shall set up programs to reduce their emissions

Developed nations shall operate projects in developing nations to reduce their emissions

o 0w p

Developed nations shall provide financial assistance to developing nations to undertake

activities to reduce emissions

Options:

28860714533. 1
28860714534. 2
28860714535. 3
28860714536. 4

Question Number : 47 Question Id : 2886073641 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a Carbon Market Mechanism to meet emission reduction targets

. Emission Trading

Fenewable Energv Certificate (REC) trading

oW P

Joint Implementation

Clean Development Mechanism (CDM)

=

Options:



28860714537. 1
28860714538. 2
28860714539. 3
28860714540. 4

Question Number : 48 Question Id : 2886073642 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

NDC under Paris Agreement stands for

National Development Commitment

Nationally Determined Contributions

awp

New Development Commitments

Non-Determined Contributions

o

Options:

28860714541. 1
28860714542, 2
28860714543. 3
28860714544. 4

Question Number : 49 Question Id : 2886073643 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

What is the mechanism under the Paris agreement to check compliance to NDC?

Transparencv Framework
Compliance Report

Committee Inspection

Audit

o 0w e

Options:

28860714545. 1
28860714546. 2
28860714547. 3
28860714548. 4

Question Number : 50 Question Id : 2886073644 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: 0



In which vear would there be a Global Stocktaking for all partners of Paris Agreement?

2100

G o g
e T
[ T
|
LS T ]

D.

]
]
]
Lh

Options:

28860714549. 1
28860714550. 2
28860714551. 3
28860714552. 4

Question Number : 51 Question Id : 2886073645 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The Paris Agreement was entered into in vear?

2015
2011
2010
2018

o 0w e

Options:

28860714553. 1
28860714554, 2
28860714555. 3
28860714556. 4

Question Number : 52 Question Id : 2886073646 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

India’s pre-2020 policy framework for combating climate change includes:

Article 48-A of Constitution

National Environment Policy (NEP)

National Action Plan on Climate Change (NAPCC-2008)
All of the above

o 0wy

Options:

28860714557. 1



28860714558. 2
28860714559. 3
28860714560. 4

Question Number : 53 Question Id : 2886073647 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The target for India to reduce emission intensitv of its GDP, set under National Action Plan on

Climate Change (NAPCC-2008)is

A by 20—-25% by 2020 over 2005 level

B. by 25—30% by 2028 over 2008 level

C. by 20— 25% by 2020 over 2008 level

D. by 25 —30% by 2025 over 2005 level
Options:

28860714561. 1
28860714562. 2
28860714563. 3
28860714564. 4

Question Number : 54 Question Id : 2886073648 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Cooperative Business Model focusses most importantlv on
A People
B. Products
C. Services
D

Commodities

Options:

28860714565. 1
28860714566. 2
28860714567. 3
28860714568. 4

Question Number : 55 Question Id : 2886073649 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: 0



In which vear was UNFCCC established?

1991
1900
1995
1992

oo wp

Options:

28860714569. 1
28860714570. 2
28860714571. 3
28860714572. 4

Question Number : 56 Question Id : 2886073650 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

What does EERA stand for?

Rules established forreal estate Act
Real estate recoverv agency

Real estate regulatorv authority

o nwp

Real estate rules and agencies

Options:

28860714573. 1
28860714574 2
28860714575. 3
288060714576. 4

Question Number : 57 Question Id : 2886073651 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Indian economy is undergoing transformation in the fields of

A Structure
B. Regulation
C. Legislation
D. All of the Above

Options:

28860714577. 1



28860714578. 2
28860714579. 3
28860714580. 4

Question Number : 58 Question Id : 2886073652 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

In which vear IDBI bank was founded?
A 1964

B. 1961
. 1971
D. 1990

Options:

28860714581. 1
28860714582. 2
26860714583. 3
28860714584. 4

Question Number : 59 Question Id : 2886073653 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Which was the first bank to setup ATM in India?

SBI

HSBC

Indian Bank
Bank of India

O 0w R

Options:

28860714585. 1
28860714586. 2
28860714587. 3
28800714588. 4

Question Number : 60 Question Id : 2886073654 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



First bank to be setup in India and the vear?
A Bank of Hindustan 1770

Indian Bank 1771

State Bank of India 1797

State Bank of India 1889

o w

=

Options:

28860714589. 1
28860714590. 2
28860714591. 3
28800714592. 4

Question Number : 61 Question Id : 2886073655 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which was the first Indian credit rating agency?

India Rating and Research Pwt Ltd
MOODY"S

CRISIL

ICRA

o 0w p

Options:

28860714593. 1
28860714594. 2
28860714595. 3
28860714596. 4

Question Number : 62 Question Id : 2886073656 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Maximum time limit and extension available for companv’s insolvency resolution process

90 and 30 davs

180 and 90 Dayvs
180 and 60 daws
D. 120 and 90 davs

0w p

Options:

28860714597. 1
28860714598, 2



28860714599. 3
28860714600. 4

Question Number : 63 Question Id : 2886073657 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Full form of POS is

A Pavment of services

B. Point of service
C. Point of Sale

D. Permission of service

Options:

28860714601. 1
28860714602 2
28860714603. 3
28860714604. 4

Question Number : 64 Question Id : 2886073658 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Which ofthe factors have caused an increase in demand for POS 7
A Demonetisation
. Increase in smartphone users

B
C. Increase in debit and credit cards
D. All of the above

Options:

28860714605. 1
28860714606. 2
28860714607. 3
28860714608. 4

Question Number : 65 Question Id : 2886073659 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



In 1938 RBI demonetised notes amounting to fs

100 and 500
10 and 100
5000 and 10000

o 0w p

None of the above

Options:

28860714609. 1
28860714610. 2
28860714611. 3
28860714612, 4

Question Number : 66 Question Id : 2886073660 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

As per recent Economic Survey, India need to promote exports majorly to-

A Pay for imports
B. Bethe engine of growth
C. Ensure efficient allocation of resources

D. Increase domestic consumption

Options:

28860714613. 1
28860714614. 2
28860714615. 3
28860714616. 4

Question Number : 67 Question Id : 2886073661 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O



Match the following

1. Theory of Absolute Advantage
2. Theorv of Relative Comparative Advantage

3. Revealed Comparative Advantage

cnwp

Options:

28860714617. 1
28860714618. 2
28860714619. 3
28860714620. 4

1-C.2-B.3-A
1-B.2-C.3-A
1-B, 2-A_ 3-C
1-A, 2B, 3-C

A David Ricardo

B. Adam Smith

C. Bela Balassa and Mark Poland

Question Number : 68 Question Id : 2886073662 Question Type: MCQ Option Shuffling: No

Correct Marks: 1 WrongMarks: 0

Match the following

1. Theory of Absolute Advantage
2. Theory of Relative Comparative Advantage

3. Revealed Comparative Advantage

0w e

D.

Options:

28860714621. 1
26860714622, 2
28860714623. 3
288060714624. 4

1-C,2-B.3-A
1-B,2-C.3-A
1B, 2-A,3-C
1-A, 2B, 3-C

A 1817

B. 1776

C. 1965



Question Number : 69 Question Id : 2886073663 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who propagated that a countrv should promote onlv those exports in which it has comparative

advantage —

David Ricardo
Adam Smith
Bela Balassa
Mark Noland

C awp

Options:

26860714625. 1
28860714626. 2
28860714627. 3
28860714628. 4

Question Number : 70 Question Id : 2886073664 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

The idea that 'Markets are efficient and self correcting’ assumes
A Perfect information
B. No extemalities
C. Absence of increasing retums to scale
D

. All the above

Options:

28860714629. 1
28860714630. 2
28860714631. 3
28860714632. 4

Question Number : 71 Question Id : 2886073665 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

CLO stands for
A Credit Lending operation
B. Credit Loan operation
C. Collaterlised Loan Obligation
D. Creditloan obligation

Options:



28860714633. 1
28860714634. 2
28860714635. 3
28860714636. 4

Question Number : 72 Question Id : 2886073666 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

For which countries most of the certified emission reductions have been issued
A. India
B. China
C. Japan
D. USA

Options:

26860714637. 1
28860714638. 2
28860714639. 3
28860714640. 4

Question Number : 73 Question Id : 2886073667 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: 0

Knowledge spillover has following characteristics

A Ttreduces with distance
B. Itincreases with distance

C. Ithas no relationship with distance

D. None of the above

Options:

28860714641. 1
28860714642. 2
28860714643. 3
28860714644. 4

Question Number : 74 Question Id : 2886073668 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



Which of the following is/are monetarv policy tools
A Repo rate
B. Reverse Reporate
C. CRR
D. All of the above

Options:

28860714645. 1
28860714646. 2
28860714647. 3
28860714648. 4

Question Number : 75 Question Id : 2886073669 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

What is full form of KPF
A EKnowledge production function
B. EKnowledge production frontier
C. EKnowledge production forum
D

. None ofthe above

Options:

28860714649. 1
28860714650. 2
28860714651. 3
28860714652. 4

Question Number : 76 Question Id : 2886073670 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

KPF was first introduced by
A Milton Friedman
B. M Eevnes
C. Robert Solow
D. Gnliches

Options:

28860714653. 1
28860714654, 2



28860714655. 3
28860714656. 4

Question Number : 77 Question Id : 2886073671 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Innovation can be measured by
A Byvinputs used in the process

B. Bv output produced
C. Bothaandb

D. None of the above

Options:

28860714657. 1
28860714658, 2
28860714659. 3
28860714660. 4

Question Number : 78 Question Id : 2886073672 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Emission since 1880 has increased the temperature by what amount

. 0.85 degree Celsius

A

B. 0.53 degree Celsius
C. 0.90 degree Celsius
D

. None of the above

Options:

28860714661. 1
28860714662 2
28860714663. 3
28860714664. 4

Question Number : 79 Question Id : 2886073673 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



Fourth Industrial Revolution does not include which one of the following?

A Artificial Intelligence
B. Big Data Analvtics
C. Intemet of Things

D. Hvdropower

Options:

28860714665. 1
28860714666. 2
28860714667. 3
28860714668. 4

Question Number : 80 Question Id : 2886073674 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

What was India’s strategy in 70's to combat increasing oil prices

Diversifving energy sources
Increasing exports

Bothaandb

O 0o wp

None of the above

Options:

28860714669. 1
28860714670. 2
26860714671. 3
28860714672. 4

Question Number : 81 Question Id : 2886073675 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

What are some of the components of a green economy?
A Sustainable transport
B. Renewable energyv
C. Waste management
D. All of the above

Options:

28860714673. 1
28860714674 2



28860714675. 3
28860714676. 4

Question Number : 82 Question Id : 2886073676 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Which of the following is/are indicator of social infrastructure
A Infant mortalitv rate
B. No. of hospitals per square kilometer
C. No. of primary schools per square kilometer

D. All of the above

Options:

26860714677. 1
28860714678. 2
28860714679. 3
28860714680. 4

Question Number : 83 Question Id : 2886073677 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

What are the P’sin UN Agenda 2030
A People and Planet
B. Prosperity
C. Peace & Partnership
D. All of the above

Options:

28860714681. 1
28860714682. 2
28860714683. 3
28860714684. 4

Question Number : 84 Question Id : 2886073678 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Who was the first women to win Nobel prize in Economic Science.
A. Joan Robinson
B. Elinor Ostrom
C. Marie Curie
D. Mother Teresa

Options:

28860714685.
28860714686.
28860714687.
28860714688.

e % B N

Question Number : 85 Question Id : 2886073679 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The author of the book, “"Goveming the Commeons™ is
A Gita Gopinath
B. Amartva Sen
C. Elinor Ostrom
D. Paul Romer

Options:

28860714689. 1
28860714690. 2
28860714691. 3
26800714692. 4

Question Number : 86 Question Id : 2886073680 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who was conferred with the 2017 Nobel Prize in Economic Sciences?
A. Richard H. Thaler
B. Daniel Kahneman
C. Paul Romer
D. Robert J. Shiller

Options:

28860714693. 1
28860714694. 2



28860714695. 3
28860714696. 4

Question Number : 87 Question Id : 2886073681 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Who advocated the “Prospect Theory™ 7
A_ Richard H. Thaler
B. Paul Romer
C. Kahneman and Tversky
D. Robert J. Shiller

Options:

28860714697. 1
28860714698. 2
28860714699. 3
288060714700. 4

Question Number : 88 Question Id : 2886073682 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

A good book review is
A_ Balanced
B. About the bool, not author
C. Specific
D. All of the above

Options:

28860714701. 1
28860714702. 2
28860714703. 3
28860714704. 4

Question Number : 89 Question Id : 2886073683 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0



Feature/s of Shadow Banking activities are
A Absence of lender of the last resort” facilities by the central bank.
B. No deposit guarantee
C. Non bank credit intermediation
D. All of the above

Options:

28860714705.1
28860714706. 2
28860714707. 3
28860714708. 4

Question Number : 90 Question Id : 2886073684 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Fandom sampling is helpful as it is
A An economical method of data collection
B. Free from personal biases
C. Reasonably accurate
D

. All the above

Options:

28860714709. 1
28860714710. 2
28860714711. 3
28860714712. 4

Question Number : 91 Question Id : 2886073685 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

Tvpe-I Error occurs if

A the null hvpothesis is rejected even though it is true
B. the null hypothesis is accepted even though it is false
C. both the null hvpothesis as well as alternative hvpothesis are rejected

D. None of the above

Options:

28860714713. 1
28860714714. 2



28860714715. 3
28860714716. 4

Question Number : 92 Question Id : 2886073686 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

Pioneering work on German industrialization has been done by

A. Veblen

B. I M Kewnes

C. Milton Friedman
D. Adam Smith

Options:

28860714717. 1
28860714718. 2
28860714719. 3
28800714720. 4

Question Number : 93 Question Id : 2886073687 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

What should be the leaming outcomes that anv course instructor / educationist should strive to

achieve from teaching of anv subject matter?

Skills & Knowledge
WValues
Positive and Constmuctive attitude

All the above

C 0w p

Options:

26860714721.1
28860714722. 2
28860714723. 3
28860714724. 4

Question Number : 94 Question Id : 2886073688 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: 0



The apex Intemational Organisation of Cooperatives is
A Intemational Cooperative Organisation
B. Global Coop
C. Intemational Cooperative Alliance
D

. MNone of the above

Options:

28860714725.1
28860714726. 2
28860714727. 3
28860714728. 4

Question Number : 95 Question Id : 2886073689 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

The Beginning of Cooperatives in India was the Enactment of Cooperative Societies Actin
A 1900

B. 1904

C. 1925

D. 1950

Options:

28860714729. 1
28860714730. 2
28860714731. 3
28860714732. 4

Question Number : 96 Question Id : 2886073690 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

For a teacher teaching a class with large strength, which of the techniques is best?
A Debate, discussions, practicals
B. Group work with a lecture
C. Lecture and class notes
D.

Self studv and asking questions

Options:

28860714733. 1
28860714734 2



28860714735. 3
28860714736. 4

Question Number : 97 Question Id : 2886073691 Question Type: MCQ Option Shuffling: No
Correct Marks: 1 WrongMarks: 0

You are training in public speaking and debate. Which of the following characteristics can vou

not expect to develop?

A. Concept
B. Control over emotions
C. Using language creatively

D. Voice modulation

Options:

26860714737. 1
28860714738. 2
28860714739. 3
28860714740. 4

Question Number : 98 Question Id : 2886073692 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0

When is the best time to evaluate a student's performance?

A_ When the instructions have begun
B. When the instructions have ended
C. Only at the end of major units of instruction

D. Throughout the instructional process

Options:

28860714741. 1
28860714742. 2
28860714743. 3
28860714744. 4

Question Number : 99 Question Id : 2886073693 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 WrongMarks: 0



What advantage do objective tvpe tests have over essay tests?

Thev are easier to interpret

Thev require less technical knowledge

The sampling content can be wider

o aw R

Thev take less time to prepare

Options:

28860714745. 1
28860714746. 2
28860714747, 3
28860714748. 4

Question Number : 100 Question Id : 2886073694 Question Type: MCQ Option Shuffling : No
Correct Marks: 1 Wrong Marks: O

Why is teacher training necessarv’

A Increase teaching skills
B. Understand methods of school organisation

C. Upgrade knowledge of content
D. All the above

Options:

28860714749. 1
28860714750. 2
28860714751. 3
28860714752. 4



